Efficiency vs P,

0.2

0.18
0.16
0.14
0.12

0.1
0.08F
0.06F
0.04F
0.02F

+
+

iy

107 1 10 10? 10°

—— DQM_TT_mKFI-DQM_
—— DQM_TT__mkFit-DQM_adjusted
—— DQM_TT__mkFit-DQM_adjustedi2

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Vel

..........................................

[y

T T T T T [T T [ TT T[T T TTTT[TTTT]

+
- o
+

0.95

T
R
|L
-
N
w

Efficiency vs ¢

0.1

0.09
0.08F;
0.07E
0.06 .

E beeees ;- ;

R 3 ] -+
FRRER N E: 3 O F S 1 L N
T + . ey [ +! :

hith 4 3 + 1]

I 5 B H -3

. -

+ T & k




	Contents
	Page 1


